	QUESTION  ONE
Find the value of  
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(Use the calculator value of pi) 

You must round your answer correctly to the nearest whole number.

	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5

	
	
	
	
	


	QUESTION  TWO
A store owner set the selling price of an article 40% above what it cost him.  Then, seeing that it did not sell, he decided to reduce the figure by 15%.

The final price was $119
What did the article cost the store owner?

	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5

	
	
	
	
	


	QUESTION  THREE
How many diagonals does a regular heptagon (7 sides) have?

	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5

	
	
	
	
	


	QUESTION  FOUR

Maia was given a bag of coloured marbles.  One fifth of them were red, half of them were green and one tenth were blue.  The remaining thirty were yellow marbles.  How many blue marbles were there?

	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5

	
	
	
	
	


	QUESTION  FIVE

A boat can travel at 15 km/hr in still water.

A river has a current that moves at 5 km/hr.

If the boat travels down stream (with the current) to a jetty 20 km from the start, and then returns upstream (against the current) to the starting point, what is the average speed for the entire trip?

	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5

	
	
	
	
	


	QUESTION  SIX

Mum had $12 to be divided up amongst her children.
Anuru received twice as much as Lee.  Lee received three times as much as Zac.

How much did Lee receive?

	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5

	
	
	
	
	


	QUESTION  SEVEN
A box contains 100 ordinary dice with dots.
One-fifth of the dice are faulty.  The ‘4’ side has no dots.

What is the total number of dots for all the dice in the box?

	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5

	
	
	
	
	


	QUESTION   EIGHT

I press a number button on my calculator.

I then double the number, add 16, and then find the square root of the answer.

If I then subtract 2,  the result is  3.

What number did I start with?

	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5

	
	
	
	
	


	QUESTION  NINE 
Make a design for planting ten trees so that there are four trees along each of five straight lines.

	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5

	
	
	
	
	


	QUESTION  TEN

Given a semi-circular piece of stiff paper with diameter 20 cm.

If the two halves of the diameter are brought together, a cone is formed.

What is the radius of the base?



	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5

	
	
	
	
	


	QUESTION  ELEVEN

Find three integers (whole numbers which may be positive or negative) such that their sum is five and their product is 60.

	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5

	
	
	
	
	


	QUESTION  TWELVE

If two machines can make four bolts in eight seconds, how long will it take eight machines to make ten bolts?

	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5

	
	
	
	
	


	QUESTION  THIRTEEN

Bon goes with his mates on a motorcycle tour through Africa.

He travels 18,000 km.

Three tyres were used equally in doing this distance.

For how many kilometres was each tyre used?

	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5

	
	
	
	
	


	QUESTION  FOURTEEN

A two-digit number is such that the sum of its digits is 6.

The product of this number and the number formed by reversing the digits is 1008.

What is the bigger of the two digit numbers?



	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5

	
	
	
	
	


	QUESTION  FIFTEEN

To encourage Jeremiah to do his maths homework more carefully, dad agreed to pay him 50 cents for each problem correctly answered, and to fine him a dollar for each incorrect one.

There were 30 problems one night, and it turned out that Jeremiah earned $9.

How many problems did he get right?

	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5

	
	
	
	
	


	QUESTION  SIXTEEN

A glass is half full of orange juice, and another glass twice the size is one-third full of orange juice.

These two glasses and then filled with water, the contents of each is poured into another container and mixed thoroughly.

What fraction of the mixture is orange juice?



	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5

	
	
	
	
	


	QUESTION  SEVENTEEN

How many times does a grandfather clock strike in a day (24 hours) if it strikes only on the hours?



	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5

	
	
	
	
	


	QUESTION  EIGHTEEN

If a brick weighs 4 kg and half a brick, what is the weight of a brick and a half?

	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5

	
	
	
	
	


	QUESTION  NINETEEN
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Your answer may be either in fraction form, or as a decimal number (round off to 3 significant figures)


	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5

	
	
	
	
	


	QUESTION  TWENTY

Two squares have a total area of 61 cm2.

The sum of their perimeters is 44 cm.

What lengths are the sides?

	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5

	
	
	
	
	


	QUESTION 

	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5
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